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1. In Haryana, the district whi SeqTaF ¢ '
largest producer of iron pipes ? (‘f'f‘ Wm (B) qﬁﬁ
(&)~ Hisar () Panchkula ©) T (D)
(C) Kurukshetra (D) Ambala |
| 2. J- x'% cos’ x dx =

2, j x% cos’ x dx = ‘ (‘X) 5 (B) O9
-1 == 1
@) -2 ®) 0 0 2 e .

@2 ®) 1 © - e
| e -4
. - he operation of the 3, E A
‘3. Which layer controls the op e ?
subnet ? . (A) mmém
(A) Data Link Layer _ B) ‘;’F{T@?f R
(B) Transport Layer ©) 3 s
(&5 Network Layer D) S
(D) Physical Layer ‘ '
- 4 %Wﬁﬁﬂﬁﬂ‘ﬁ%ms'é'ﬁ“aa

4. Choose the word which is least like other . - 3
words in the group. T
(A) Brass (B) Zinc (a) dad (B) Ws'ff”
©r Tin (D) Copper ©) = FD)

5. Ifin a certain language ‘REMOTE’ is 5. !ﬁ%@ﬁrﬁ%ﬁr Wﬁ ‘REMOTE i .
¢oded as ‘ROTEME’, which word would ‘ROTEME’ & &9 1 E R ICEIRSIGI %, dl
be coded as PNIICC ? fow w1 1 e PNIICC 81T ?

(A) PICNIC (B) PCIINC (A) PICNIC (B) PCIINC
(C) PINCIC (D) PICCNI (C) PINCIC (D) PICCNI
6. The Brass City in Haryanais - 6. gfamn % dige T - L ?
(A) Panipat (B)  Hisar ' (A) UG (B) fER
(Cr Rewari (D) Sonipat ©) WrE D) i
7. Ifxz:3+2\/5,thenthevalueof 7. qﬁx=3+2\/—2-’?ﬁ(\/;—L)$[m¢{
(\/"_71__) BT 7 Jx
X
p A
(A 242 B) 33 A 2v2 B) 33
€y 2 D) 1 < 2 D) 1
8. Ifgz /%,thenthcva]ueofxis g. R 2=\/_16\9 &
X . = E » AL X R A1 S -E?P'IT 2
() 62 (B 68 (A) 62 - '
(C) 58 (D) 52 (C) 58 D) 22
Y 52 '3 2 )
—_—
» 1 eg_
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9, Who designed the High Court building of
Chandigarh ?
(A) Edwin Lutyens
(B) Le Corbusier
()" Laurie Baker
(D) None of the above

10. x=[10]

def add_list():
x=[30,40]
x.append(50)

print X

add_list()

print X

The above example prints

B [30,40,50]

(B) Ervor in the program

(C) [10] [30,40]

(D) [10][30,40,50]

11.  Which of the following is not included
in the list of Directive Principles of State

Policy ? _

(A) Promotion of Village Panchayat
(B) Right for frec_a education

(©r Promoting world peace

(D) ReligiousRights

12. The equation of the curve passing through
the point (1, 1) whose differential equation

is xdy. = (2x> + 1)dx, x # 0, is

X 1
A —_— 2 u st
(A) 3 B) x +2log|x|
(&7 X®+log|x| (D) logx*
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fopee foparn 7

(A) TERA TREH
B) T FEHER

(C) W

(@) I & A

x=[10]

def add_list():
x=[30,40] A
x.append(50)

print X

add_list()

print X

S9ga 33T Ea| g@{ﬂ FATR |

(A). [30,40,50]

(B) TumHAIR

(C) [10][30,40]

(D) [10] [30,40,50]

feffiaa & & forer T <6 +ifa e

e o e A oTea el R g ?

(A) T YRGSl HETAAT AT

(B) T fram % forw stfereAn

(C) Tova wiifd 1 e e

(D) i TfarERR

fo1g (1, 1) % wremm @ o Aol 9 @@
Rt o B, TorenT taehel ety
xdy = (2x2 + 1)dx, x = 0% ?

3
CE 1
(A) 3 (B) X2+510g|x|

©) x*+log|x| (D)

log x?
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13. The probability ©

14.

15.

16.

17.

18.
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1
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o L D) 0
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How many British members of Parliament

are in the “Simon Commission” ?
(A) Five (B) Seven
¢/ Nine (D) Eleven

The non-perennial m'ver{lwhich flows in
Haryana for a length of 50 km. is

(&Y~ Rakshi (B) Chautang
(C) Indori (D) Dohan

What is the rank of India in the global
gender equality index developed by UK ?

@ 81
(B) 31¢
(®) g5th
(D) None of the above

What is the main objective of recently

concluded “Astana declaration” of WHO

and UNICEF ?

(A) To improve the health condition of

adolescent girls in.the South Asian
countries '
To reduce maternal and neonatal
mortality rate in the South-East
Asian countries

(C) To strengthen primary healthcare

(D) None of the above

If = means +, < means —, T means =+,
1 means %, [J means =, then choose the
correct option.

(A) 3161253« 605

B) 7«4316L104

C) 5731204

D) 2l5«6=206¢

=
quc-f’flffb—éflg
== e
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: 3
M@Wmm 1
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o 1 D) 0
© 3
“Wmﬂ”ﬁm#mﬁﬁﬁm
79 ?
© @ O
WﬁSOWWaﬁaﬁ
@y @ (B) eI
© Z (D) <IBH

(A) 814t
(B) 3lat
(C) 954t

(D) ITdF | ¥ I TR

T, .37, 3R YA F T & F g
s Rt e R R
(A)  =fE ufires e fevin wrefn ¢
ey feafa & g s
afer-s TR deit & wrg afk
Tﬁhmaaﬁmm

S TR T@Tet 3 s
TRt & S T

qﬁ—)ﬂ@ﬁﬂ(_aﬂaﬁ_n\ma?j_

J’Waﬁx,Daﬂgg‘f: i
(A) 3¢6T2_>3(~’63;‘?1%W€4
2¢5<~6“)2D6

(B)

(©)
(D)

(D)
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19. The first European country came to India
through sea route was

(A) Britain (B) Dutch
&y Portugal (D) France

20. Which of the following term refers to the
textual sources includes histories of the
period written by contemporaries 7
(A) Annals (B) Velums
(C) Folklore (D) Ballads

21. Theriver which originates from the Shivalik

range near a place called Dagshai in the
Solan district is

(A) Tangri (B)
)" Markanda

Ghaggar
(D) Saraswati

22. What is the rank of Haryana in India in
terms of area ?

(Ar 21 (B) 28"
(©) 15" (D) 13®

23. Optical fibre is based on
(A) Refraction
(B}~ Less absorption co-efficient
(C) Less scattering

(D) .. Total internal reflection

24. The average of all the numbers between
6 and 34 which are divisible by 5

(A) 24 (B) 30
C)~ 20 (D) 18

25. Complete the analogy :
Haemoglobin : Iron : : Chlorophyll : ?
(A) Cobalt By Calcium
(C) Magnesium (D) Copper
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20.
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23.
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HI A A R H ST AT Tt U
G
(A) for=
(C) g

ffafaa § @ SF—7 Y7o THFIHT 31T
fiRaa frvees gral = weiia o g, e
e o 3foerd afferd BT 7

(A) T (B) =HuA

(C) S g (D) mwia

7 T S Aier et H SIS IHE I I
franferen St 3 s Okt 3, ST AT R ?
(A) T (B) ®R

(C) ARSI (D) G

(B) =
(D) I

WG o Ty W WA § SRATON &l T
HT-EE ?
(A) 214t
(© 15df

(B) 284
(D) 134f

ifeshet Wigsk fohe W amamig @ 7
(A) YERA

(B) I TSI U

©) = forata

(D) e ATANGR T

6 3T 34 T sfte =l wvlt et 1 hag
R, MU= Y faasT ® ?

(A) 24 B) 30

(C) 20 D) 18

THETAT Ut i
Temrenfer ; 3@ ¢ ; FRIRh ¢ ?
(A) e (B) icwm
(C) WHfam (D) HW
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2 ryx=ay
S (O he differential 26 syaehet GHIP (a-y )dy Y
he integrating factor of the d1 A
e dx (agT|y|<l)$T amﬁﬁ’lﬂﬁ
equation (1_y2)_cr+yx=ay l | 1
. B — 2
(where|y1]< 1) is | (A) _,};—:—1- ( -y
w ~— B T2 :
-] Y L © 7o
1 - —
© - @ ©® = -y
-y y Wﬁ@gﬁﬁﬁﬁﬁﬁﬂﬁqTQQQH
27. The rivers which are regarded as.suc(rlcd 27. e 5
rivers in Haryana are Drishadvati an B) 2
(A) Shivalik (B) Saraswati () T

(C) Godavari " Yamuna

28. Complete the series : 28 m Tﬁ 3
| 6,17, 39,72, ? 63> B) 116
| A) 83 116 (A) 83 (
| o ( (D) 94
| (C) 127 D) 94 (€ 127
| | 29. The number of arbitrary constants in the | ~29. = ﬁ%?mpf@ TR THIRT laq"- fersre
1 particular solution of a differential equation & 1 TS I h e B
| of 4" order is
b (A) 5 B) 0 (&) 3 ® 0 .
| | (C) 4 (D) None of these <€) 4 (D) $TH € =his el
‘ 30. Theriver Yamunaruns from Yamunanagar 30. JHAER ¥ ST qeh J8- Jrell AT -
| Tress plains are G two pars, the A S R S | S
| lower one is called ) LAE : ?_Eﬁa g, T e R
| (A) Marshy By~ Shivalik N R ST &
| | (&) weret (B) it
| (C) Khadar (D) Nelli (C) @Rt (D) 5 )
! | 31. Complete the series : 31, %@ET{UT A
ii 138, 161, 185, 210, ? 138, 161, 185. 510, 5
){, (A) 258 B) 272 Ay 35y
| ©r 236 (D) 216 © 236 (B) 272
(D) 216
32. A PC with colour monitor 17” requires 32. 17"%5 e
- 17" H T i
an UPS of T, 6 mmaré tﬁ\#} b
(A) 250VA (B) 440VA (A) 250y A JIaT R |
(Cr GOOVA (D) 500VA © 600vA (B) a40va
0 . D) soova
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33, The highest elevated area of Aravalli hills

34.

3s.

36.

3

38.

39

Telegram/etayarigovtjob

which is 652 m high, is called as
(& Dhansihills  (B) Hisar hills
(C) Karnal hills (D) Sirsa hills

In which one of the following States,
Singalila National Park is located ?

(A) Maharashtra
(B) Karnataka
; (Q’ West Bengal
(D) None of the above

The muffler made up of wool which worn
around the neck is also known as

(A) Dohar @7~ Guliband
(C) Safa (D) Paag

Which of the following Committee
recently submitted the draft National
Educational Policy ?

(A) Madhav Gadgil Committee

(B) Raghuram Rajan Committee

¢ Dr. K. Kasturirangan Committee
(D) None of the above

In Three-tier Client / Server database
architecture, intermediate layer is called as

(A) Database server
(B) Application server
{&y Web interface

(D) Client

The range of values of X in which
f(x) = x2 — 6x +3 is increasing, is
(A) 10,3] B) [-3,3]

@[3, ) (D) (=, 3]

Alkyl cyanides react with Grignard
reagents to give

(A) Ketones
{&J Aldehydes

(B) Amines
(D) Ethers

www.etayari.com

33.

34.

35.

36.

37.

38.

39.

5/2019 (1) (E3)
STl T o wd S B forh 5o
652 m ¥, 38 1 T ¢ |

() R (@) R
() e Tt (D) - e e
SfRea § @ e e # Rimmefer T
a1 TRm 2 7

(C) ufTem st

(D) 3w & & g T

ﬂ@rﬁwﬁaﬁﬁqmﬁa@mﬁaﬁwaﬁ
ot HET AT & |

(B). - TeAt=g

(D) um

(A)
(C) TH

freffeg 4 @ fra @l Te & H T
Sfegers <fifer = wrediar g Tk 7

(A) FHd e wfEfd

(B) TgUW U wfnfd

(@) . %, e wifd

(D) I # @ g T

dH - Temge /et sree ang |, Headi
T FEAT © |

(A) SEEE T

(B) Ufterehy ™ Tt

(C) o 3TTHY

(D) TR

x S T <t Sioft o f(x) = x2 = 6x + 3
fa g ], 8 R g
(A) [0,3] (B) [-3,3]
€ [3,) (D) (=, 3]

firre erfirerent @ TfsRat e steesa
ESIESIESS ECIGIE

(A) HRH (B) 3WIET

(C) weErs (D) 3N
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40. Which district is the largest producer O

wheat in Haryana ?
(A)
(C) Bhiwani

(B) Ambala
@'{ Sirsa
41. Shivalik Hills are the sources of many
rivers. One of such river is
(A) Cauveri {B() Ganga
(C) Kapila (D) Tangri

Karnal

42. A number when divided by 6 leaves a
remainder 3. When the square of the same

number is divided by 6, the remainder is

(A) 2 ®&f 3

© 1 (D) 0

43.  Which of the following statement refers
to the Judicial Review Power of Supreme
Court ?

(A) Powerto advice the President in legal
views

(B) Power to appoint Judges to lower
courts

(©&F Power to examine the constitutionality
of laws

(D) Power to settle disputes between state
governments

44.  Which protocol is responsible for makin g
sure that the commands get through to the

other end ?
Y Tcp (B) PPP
(C) UDP (D) IP

45, T
he sum of Squares of three consecutive eyen

natural numberg is 200. Find the numbers
0,38, 10 (B) o9, 7, 10
C) 7,8,9 D) 8,9, 10
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gy et 11 1 AT T
< Fearor 1 -
Jerre § (B) Il
T
© fn @ B
s o AR AT
fyraferen o TaTeAl SIEd
T el B .
ffj Hrel ® 7T
, arh 2, 91 3 3y
@H@Tﬁﬁﬁﬁm
g ST 2, 7 e w1 6 Fo
w%,a}ﬁqwrﬁq@m%?
@A) 2 “ ®) 3
(C)...1 (D) O
e & -8 o e <R
<t =1k Tften TfereR <kl Hefild shidn @ ?
(A) S foml 7 Tegafa = were 29 =
STIYFR |
(B) el eterera & = manefelt <Ry
T A AR »
©) :?%aﬁa‘éﬁrrﬁmaﬁmww
eI
) ?ﬁ%ﬁaﬁmaﬁﬁmw
T s o
mﬁ%%qm?%fg,%ﬁfﬁa
(A) TCPpP 87
© Up (B) Ppp
N P (D) 1p
I B o
2002 | 3 gt T ET oy
(©€) 7,8, (B) 9,7 10
(D) 8,9, 10
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46.

47.

48,

49.

50.

S1.

52,

. 33,
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Seed Scheme was started in Haryana in
the year
\M) 2011 (B) 2009
(C) 2007 (D) 2005 |
Haryana is bounded by in the East.
(A) Madhya Pradesh
(B) Indori

Ghaggar

(D) Uttar Pradesh

Which of the following disease/s is very
common amongst the livestock ?

(A) Brucellosis

(B) Foot and Mouth Disease
(& Both (A) and (B)

(D) None of the above

The File mode parameter ios::app belongs
to Stream type.
(A) isstream (B) strstream

(C) ifstream () ofstream

The ST unit of modulus of elasticity is
(-Aa/ Pascal (B) Ampere
(C) Joule (D) Newton
NO* is _ in nature.

(A) Ferromagnetic

(B) Anti-ferromagnetic
(¢~ Paramagnetic

(D) Diamagnetic

The National Dairy Institute is located in
(A) Panipat (B) Sirsa
(C) Bhiwani @@y Karnal

If the cost of ‘x” metres of wire is ‘d’ rupees,
then what is the cost of y metres of wire at
the same rate ?

(A) Rs(yd) (B) RS(L)?')
(C) Rs(xd) (D) RS(EdX)

www.etayari.com
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47.

48.

49.
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5/2019 (1) (E3)
< feaor 3 fof o et e g i e ot 7
(A) 2011 (B) 2009
(C) 2007 (D) 2005
g i | afeme |
(A) == T
(B) X
(C) ¥R
(D) S T
ﬁmﬁmﬁ@raﬁq-m/ﬁrﬂnmmésaﬁa
g MR ?
(A) St
(B) HEUsHI-Gaeh T
©) (A) I (B) I
(D) ST HH I A
HE TS I i0s::app
TR <Al &0 & Feifera B |
(A) 1sstream (B) strstream

(C) ifstream (D) ofstream

TR HIYTeh hY TH.3TTE. T91S ©

(A) U (B) W
(C) S (D) A
NO* werfer T
(A) TEEhE

(B) whi- r-ﬁ%gaeﬁa

©)

(D) srf%ﬁfma

T 00 oo i TR R ?
(A) UM (B) famr
() Tt (D) e

A TR H x* WX A Aa ‘d° TR, dv 3w
ARy NAF IR AT R ?

(B) Rs (%)

D) Rs(%y—)

o~ Rs(yd)

(C) Rs(xd)
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54.

5s.

56.

59.

57.

58'

60.
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0.3

Which of the following fraction is greater
than %and less than % ?

nd 9 o9°
@S ® SO

l —

.(C) _g_@.(, D) 3 o3

In Haryana, the Mahendragarh is famous for
(A) Leather work (B) Lungis

(C) Metal work (DY Lac Bangles

%
fsin3xdx=
0

@ 4
3

of 1

2
B) =
(B) 3

(D) None of these

Two numbers whose sum is 32 and product
18 256, are

(A) 27,5 (B) 20,12

9, 16, 16 . (D) 24,8

In Haryana, Ballarpur Paper Mill is
located at

(A) Sirsa

®1 Yamunanagar
(C) Hisar

(D). Panipat

In the radioactive decay of 02U, the center
of the emerging ,He* particles is at a certain
distance 12 x 10" m from the center of
residual ¢ L N7 nucleus at that instant. The
force on the helium atom is

(A) 222N (B) 288N

& 258N (D) 300N

Who is the author of the book “Third
Pillar’ ?
(A) Manmohan Singh
(B) _Raghuram Rajan
Shaktikanta Dag
(D) None of the above

arl.Orn

54.

55.

56.

37.

S8.

39.

60.
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AU R

ﬁgﬁqﬁg—dﬁﬁﬁﬁq—mm %aw%
%‘@t'@’m% ?

4 B) 2
&) 5 e U
) % D) 2 .
it 3 g foRweh T SreTal & 2
@ wia @ﬁ?ﬁ?@m‘
©) og-FE  PRENTERITR
stin3xdx=
0

2

) g‘- ® 3
© % (D) 39 & =g T
T8 2 e - R 9 32 af
TS 256 8 7
(A) 27,5 (B) 20,12
) 16,16 (D) 24,8
Eﬁmvnﬁw?ﬁqtﬁaa?ﬁ@a%?
(A) e (B) IR
(© fomm D) e
AV SR a7 8, S0 e o
W%WWWQ%@%“&%%@
12x10r”m%‘°r‘c.'ﬁqt%|‘aﬁ%qq TRHTY @
EN A A
(A) 22N (B) 288N
© 28N D) 300N
“ﬂﬁﬁ?{(” a;
n 3%?: AEE H S 7
(B) T
© I 2Ty
(D) Eq%ﬁ‘éaﬁ_gqﬁ
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In Pointer concept, Indirection Operator

(*) returns
(A) Value of the variable

(B) Location of the variable
(Cr~ Address of the variable
(D) None of the above

The enzyme ___ present in yeast
converts sucrose into glucose and fructose.

(&) Lyases (B) Ligases
(C) Zymase (D) Invertase

The Novel “Tuttey Bandhan’ was written by
(A) Jemini Sarsar (B) Samprady
(Qf Hemraj Nirgam (D) Banabhatta

The Railway Carriage and Wagon Workshop
at Jagadhri in Yamunanagar was established

in the year
(A) 1962 (B) 1972

(C) 1942 (D) 1952

Ifin a certain language “TRACE’ is written
as ‘GIZXV’, then ‘ROAST’ is written as
(B)

(D) ILZHG

(A) ILZGH 1ZLMG

@) IMZHG

1.1, 1_ -9
If3+2+x—4,thenx—.

v

©

._.
co
— [
S

o 2]

(B)

D"

o o

\O
o0

Vishwashanti Ahimsa Sammelan—2018 was
organized in which of the following State ?
(A) TamilNadu (B) Goa

(C) Maharashtra (D)~ Gujarat

Which tax was collected by the Church
from peasants in France ?
(A) Land tax (B) Forest tax

(C) Taille @7 Tithe

~ www.etayari.com

62.

63.

64.

65.

66.

67,

68.

Contacg@()efEYﬁrk'Egm

e, TR ATRE (*)

Eaknl

Wﬁ@(@'gﬂiﬁ

@rzﬂ/sﬁzﬁ‘?ﬁﬁ“m‘%%’
@@aﬁmﬁm l

3:?3 (B) T

(C) SEHS (D)

‘@E.I‘EF{,

(A) SifHH TER

(C) waust frim |

T 3 e 3 el HR ag M

e forer o wenfira feRarm TIT AT ?

(A) 1962 (B) 1972

(C) 1942 Oy~ 1952

gz fifeea s s ‘TRACE’ = ‘GIZXV’

fET T &, @ ‘ROAST’ &1 foran

@ |

(A) ILZGH

(C) IMZHG
1.1

qﬁ{ 'g'i"i

8

(D)

(B) IZLMG
(D) ILZHG

+-1-=4,?‘ﬁ x="9
X :

[a—y

(A)
©)

(B)
D)

— N
N

=

5
6
19 i

%ﬁﬁmm—zolsm
H ¥ form Tea | St feme T on 7
(A) dfteTg (B) Thal

(C) Hall5g (D) TSN

T T = g R 8 -

Tomam Strem o ? AR

(A) H-N
(C) e

o0

(B) SISl
(D) = & (fa)
0)
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69.

70.

71.

72.

73.

74,

O
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Gujari Mahal is located in
(A) Hisar (B) Bhiwani
(C) Sonipat (D) Panipat

In Java, InputStreamReader translates
Bytes to

(A) Characters (B) String
(C) Byts (Dj Bits

From which Constitution did India borrow the
idea of Directive Principle of State Policy ?

(&> Constitution of USA

- (B) Constitution of Britain

(C) Constitution of France
(D) Constitution of Ireland

Which of the following place is the
largest producer of scientific and surgical
instruments, hence called Science City ?
(A) Sonipat

(B) Sirsa

'(ZS Ambala

(D) Yamunanagar

The distance of the plane 2x — 3y+4z=6
from the origin is

3 4
(A) E (B) E
6 1

WE (D) 5

Irani trophy is associated with which one
of the following sports event in India ?

(A) Cricket
(B) Badminton

(C/{ Football

(D) None of the above

-12.
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English Language

Identify the figure of speech used in the following
sentence :

75. ‘Life is a dream’
(AY~ Personification
(B) Apostrophe
(C) Metaphor
(D) Simile

Select the Antonym of the word in capital from
the options given :

76. DILIGENT
(A) Submit
(B) Junior

()~ Strict

(D) Slow

Choose the correct passive voice for the given
sentence :

77. “Close all the doors.”
(&) All the doors must be closed
(B) All the doors are closed
(C) Let all the doors be closed
(D) Let the doors closed

Use appropriate idiom to fill in the blank :

78. Monali shed
out with her mother.

(A) . To cry wolf

(B) A cat and dog life
(Q{ Crocodile tears
(D) The rat race

to get her way

www.etayari.com
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Select the Synonym of the word in capital from
the options given :

79. EMANCIPATE
(A) Liberate
(BY” Tieup
(C) Sheltering
(D) Help

Fill in the blank with suitable preposition :

80. Thavenotmethim___ Monday.
(A) from
B)~ since
(©) in |
(D) for

Select a word or phrase from the given options

to complete the sentence :
\

81. Iamfedup staying at this place.

(A) with

(B) for

{C)y on
(D) at

task should be done with patience.
(A) Rome was not built in a day
(B) Time and tide waits for none

(C) Arolling stone gather’s no mass

contact@etayari.com

82. Selectthe proverb which means animportant

(P] Where there is a will, there is a way
13- Q)
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